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Site Location Description Area(ha) Land use (%)

1
Daejon city

Chungnam province
Creek 338 Forest 99.5, Road 0.1, Others 0.4

2
Daejon city

Chungnam province
Regional Ⅱ class River 2,737

Rice paddy 35.9, Forest 44.8, 

Residential 13.3,Road 4.7,Others 1.3

1 2

E-vent RAINa Tb DRY DAYc RAINa Tb DRY DAYc

1 18.5 67.5 5 18.5 23.6 5

2 67.0 60.7 12 66.5 64.5 1

3 14.4 26.5 3 14.4 35.9 3

4 43.5 36.0 2 43.5 25.9 2

5 44.5 47.6 1 44.5 42.3 1

6 259.8 123.8 11 259.8 123.8 11

7 35.0 41.3 1 35.0 41.2 1

8 4.5 22.3 4 4.5 22.5 4

9 37.0 30.0 3 37.0 26.0 3

10 135.0 60.0 2 135.0 60.0 2
a precipitation depth(mm),  b rainfall duration time(hr),  c dry days since last rainfall event(day)



구  분 1 2 3 4 5 6 7 8 9 10 11 12 계 년평균

강우사상(개) - 2.3 3 2.7 2.7 2.3 3.3 3.3 2 2.7 2 - 26 2.6

강우일 - 3.3 4 6.3 5 6 10 11 6 4.7 2.7 - 59 5.9

평균강우강도

(mm/day)
- 10.7 6.4 17.0 16.2 23.4 24.0 22.3 14.5 11.8 6.7 - - 15.3

월평균

강우량(mm)
13.4 7.4 23.8 19.5 26.0 28.2 25.9 17.0 12.4 6.9 - 18.1

평균건기일 - 6.6 6.9 6 7.1 5.9 3.13 3.5 8.0 6.4 6.6 - - 6.0



Parameters n
Best-fit Linear Equations (R2) Best-fit Linear Equations (R2)

site 1 site 2

SS 10    y = 0.0011x2 - 0.0202x  (0.98)    y = 0.0021x2.086  (0.80)

TCOD 10    y = 0.0059x2 - 0.1977x  (0.99)    y = 2E-05x2 + 0.0972x  (0.65)

SCOD 10    y = 0.0031x2 - 0.1011x  (0.99)    y = 0.0887e0.0316x  (0.59)

TN 10    y = 0.0002x2 + 0.0191x  (0.78)    y = 6E-05x2 + 0.0085x  (0.86)

TP 10    y = 3E-05x2 + 0.0047x  (0.80)    y = 0.0005x1.4134  (0.84)

NH3-N 10    y = 8E-06x2 + 0.0004x  (0.95)    y = 0.0034x0.8225  (0.57)

NO3-N 10    y = 0.0004x2 - 0.0086x  (0.98)    y = 0.0001x2 - 0.0025x  (0.97)

PO4-P 10    y = 9E-06x2 + 0.001x  (0.85)    y = 0.0001x1.6059  (0.59)

BOD 10    y = 0.0011x2 - 0.0393x  (0.98)    y = 0.0007x1.6717  (0.69)

TC* 10    y = 6E+06x1.8406  (0.36)    y = 7E+06x2 + 3E+08x  (0.94)

EC** 10    y = 99338x2 + 4E+06x  (0.81)    y = 4E+06x2 + 2E+07x  (0.89)

R2-coefficient of determination

         * TC-total coliform, ** EC-



SS TCOD TN TP NH3-N

Site1 21.56 34.16 11.47 2.62 0.28

Site2 29.18 47.80 4.80 0.86 0.98

NO3-N PO4-P BOD TC EC

Site1 0.04 0.59 7.56 3.87E+10 3.01E+9

Site2 0.16 0.31 2.67 2.21E+11 5.22E+10


